JEE-Main-28-06-2022-Shift-1 (Memory Based)

MATHEMATICS

Question:
A P

N )

“W i
B Q
80m a0 m

Find tan” @.
Answer: 4(3—2\6)
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=4(3-2v2)

Question: Find probability that 3 digit number has atleast two odd numbers.

Answer: E
36

Solution:
Total 3 digit numbers =9x10x 10 =900
Numbers with 3 odd digit =35x5x35=100
Number with 2 odd, one even digit =4x5x5+2x5%x5x5
=350
Favourable number of cases =1254350 =475
475 19

Probability =—=—
900 36

at

Question: Equation of circle (x— 1)2 +( —2)2 =5 drawing 2 tangents at (0,0) & (1 +-\/§,U)

they intersect. Find arca of that triangle.

Equation of AB=y=10

(x=1) +(y-2) =5

= x'+3y°—2x-4y=0

Let Cbe (o, f)

Equation of AB=ax+fly—(x+a)-2(y+p)=0
= x(a-D+y(f-2)-a-28=0

=>a=1 -a-20=0
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Question: |4 =2. Find || 4adj(Sadj 4°) .

Answer: 27 x5°
Solution:

“A‘aq'j(S addj A'ﬂ’)l

=4[ |adj (5 adj 4

=14’ 5adj 4°
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Question: 7 =2/ + j +3k, b =3+ 3 +hk & T = e + [TEI}']'C;:{;, a,b,c arc coplanar, @-¢ =5
& b is perpendicular to €. Find 122(¢, +¢, +¢,).

Answer: 150.00

Solution:

=2
L

=2 +j 453k, b=3i4+53]4k & ¢ =ci +o, 7tk

=2

Z=5,b .17, 122(¢ +c,+¢;) =7

)

bie=3¢+3e,+6 =0 ..l2)

a-¢=2¢ +¢, + 3¢

& O G
2 1 3|=0
3 = 1

¢ (1=9)=6;(2-9)+¢,(6-3)=0
—8¢, +7c, + 3¢, =0 (3)

From (1), (2) and (3)
10 _ -85 225

G 8

- A
227 ¢ d22° 7 122

g collegec
India’s largest Student Review Platform

T

unia:s



IZZ(C] L5 +c3) =150

Question: y° <8x, y=+/2x,x <. Find area.

S )

Answer:

Solution:
Given, y* <8x, y=+2x,x <1,
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Question: Find number of numbers divisible by 6, formed using 3,6,1,7,2,5.
Answer; 72,00

Solution:

Given 3,6,1,7,2,5

3+6+1+7+2+5=24

Casel;: 3,1,7,2.5
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I3 2wl =24
Case ll: 6,1,7,2.5

dn3gdwlnl =45
Total =244+48="72

Question: i"(” i +Z*0C N P ct % 60!
-l t 13016 30!
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b7

Answer;

Solution:
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_ X dy ( o
Question: x| ————=+¢" |—=x+ y e* |. Let yp=y (r] satisty above
"

de =
differential equation such that y(l) =0.If y(2¢)=¢, find «.

Answer: ()

z.,_‘l;

-

Solution:
,I{ 2 -I—E:‘}y ‘L]( A {JL}
,”I!L —y dx ’ L'II . ,,
dy dv
Put y —= P v
dx dx
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1 +e‘}dv: -OE
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L

. a0 V
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x )

y(l):():% 0+l=0+c=c=1

1
Ly(2e)=a= sin” [%}+€2 =sin2a +1
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Question: Find the number of real solution of 4x” +3x° +5x+1=0

Answer: 1.00
Solution:

Let f(x)=4x"+3x" +5x+]
f’(,a:) =28x"+9x" +5> 0
f(x) 1S Increasing

No. of roots = 1

Question: («,) —> GP, a, xa, xa, X da, =
Answer: 43,00
Solution:
2 4 f l
a-ar” -ar car’ =
1296
PR ]

at = —

64

1 7
, @, +a, =—, then a, +a, +q,

1296 36
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3 |
oy =—
6
7
ds Fdy=—
' 36

. 7
ar+ar’ = —
6

1
36

3
A |
ar=———
36 6
—= 1 =6
) L
t, +a, +d
3 T G
ar’ +ar’ +ar

:Lxé'}' +L><63 +L><64
36 36 36

=]1+6+36=43

Question: Mean & variance of 15 observations 1s 8 & 3 respectively. One observation 1s
wrongly taken as 5 in place of 20. Find correct variance.
Answer: 11.00

Solution:
2 2
Variance = ZA _(Zg]
7 7
32a®
15
2"{ =67
15

> x? =1005
New > x* =1005-5"+20’
= 1380
New Zx=8><15—5><20:135
L 1380 (135]1
Varnance = R

15 15
=92-81=11

Xy 5 . X _
Question: !L—,_—}l} =)= e &LER = 6\/5. It v=2x+¢ is tangent, find ¢.
a b

Answer: 2

Solution:
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=R8x2-12=4
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